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(@) sv=v, W0 =1, () S7v = v, ¥(0) =1, 4/(0) =0.
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(©) zv=y ¥(0)=0,4'(0) =2. (d) =y =2z, y(0)=0.
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(a) o3y = —4y, y(0) =1. () Sy =yt
() % = zy. (d) 2$y%y =z + 2
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5. ;;;y +w?y = sinkz, y(0) =0, dij—y(O) =0. (10%)
(a) REAL¥IIAMERIEZ R (w #£ k)
(b) REBBAB W Z IR (lim y(z))
6. K LA T ¥ 4A{E R RE Z power series fi# . (10%)
(1—2)—d—2— +2—d— +6y=0, y(0)=0 i(o>—1
z dzgy xd(l}y Yy = ) y =TV d.’l:y _ &
7. BB u(z,t) W & wave equation
o? ?
Bﬁu(:r,t) = 67u(:1:,t),
SRR u(0,t) = 0B u(2n,t) = 0, FIhAHE {4 u(z,0) = sin z + sin 2z.
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